



A Study of Symbolic 2-Plithogenic Split-Complex Linear Diophantine Equations in Two Variables

¹Rama Asad Nadweh, ²Oliver Von Shtawzen, ³Ahmad Khaldi, ⁴ Rozina Ali

² University Of Nizwa, Sultanate Of Oman, <u>Vonshtawzen1970abc@gmail.com</u>

³ Mutah University, Faculty of Science, Jordan, <u>khaldiahmad1221@gmail.com</u>

⁴ Cairo University, Faculty of Science, Egypt, rozyyy123n@gmail.com

Abstract:

The equation AX + BY = C is called symbolic 2-plithogenic linear Diophantine equation with two variables if A, B, X, Y, C are symbolic 2-plithogenic split-complex integers.

This paper aims to find an algebraic formula for solving the symbolic 2-plithogenic split-complex linear Diophantine equation with two variables with necessary and sufficient conditions for the solvability of this class. Also, some related examples will be illustrated.

Keywords: Split-complex, symbolic 2-plithogenic, linear Diophantine equation.

Introduction.

Diophantine equation is very interesting concept in Number theory, where they are considered as algebraic equations with integer solutions [1].

In the literature, we find many generalized kinds of Diophantine equations handled by many authors, see [2-5].

A classical linear Diophantine equation an equation with the following formula:

AX + BY = C, where A, B, C, X, Y are integers.

Split-complex numbers were built over real numbers a generalization of them with a similar structure to the complex numbers, where a split-complex number is defined as follows:

a + bJ; $a, b \in R, J^2 = 1, J \neq \{-1,1\}$, and they are studied by many authors in [6-10]. If $a, b \in Z$, then a + bJ is called a split-complex integer.

The concept of symbolic 2-plithogenic split-complex numbers was defined as an extension of symbolic 2-plithogenic numbers [12]. The generalizations of real numbers, especially the plithogenic numbers have many applications in many scientific fields, see [13-20].

In this work, we present an effective algorithm to find all solutions of the symbolic 2-plithogenic split-complex linear Diophantine equation with two variables.

Preliminaries

Main discussion.

Definition.

Let
$$AX + BY = C$$
 with:

$$A = (a_0 + a_1 P_1 + a_2 P_2) + J(a_0 + a_1 P_1 + a_2 P_2)$$

$$B = (b_0 + b_1 P_1 + b_2 P_2) + J(b_0 + b_1 P_1 + b_2 P_2)$$

$$C = (c_0 + c_1 P_1 + c_2 P_2) + J(c_0' + c_1' P_1 + c_2' P_2)$$

$$X = (x_0 + x_1 P_1 + x_2 P_2) + J(\dot{x_0} + \dot{x_1} P_1 + \dot{x_2} P_2)$$

$$Y = (y_0 + y_1 P_1 + y_2 P_2) + J(\dot{y_0} + \dot{y_1} P_1 + \dot{y_2} P_2)$$

Where $x_i, y_i, a_i, b_i, c_i, \acute{x}_i, \acute{y}_i, \acute{a}_i, \acute{b}_i, \acute{c}_i \in Z$.

The previous equation is called symbolic 2-plithogenic split-complex Diophantine equation with two variables *X* and *Y*.

Example

$$[(2 + P_1 + P_2) + J(1 + P_2)]X + [(1 - P_1 + 3P_2) + J(4 - 5P_1 + P_2)]Y = P_1 + P_2$$

Is a symbolic 2-plithogenic split-complex Diophantine equation with two variables.

How can we find the solutions?

First, we must transform the equation to classical Diophantine equations.

For this goal, we must compute the products AX, BY.

$$AX = (a_0 + a_1P_1 + a_2P_2)(x_0 + x_1P_1 + x_2P_2) + (\alpha_0 + \alpha_1P_1 + \alpha_2P_2)(x_0 + x_1P_1 + \alpha_2P_2)(x_0 + x_1P_1 + \alpha_2P_2) + J[(a_0 + a_1P_1 + a_2P_2)(x_0 + x_1P_1 + x_2P_2) + (\alpha_0 + \alpha_1P_1 + \alpha_2P_2)(x_0 + x_1P_1 + \alpha_2P_2)].$$

We have:

$$(a_0 + a_1P_1 + a_2P_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1 + x_2) - (a_0 + a_1)(x_0 + x_1)],$$

$$(a_0 + a_1P_1 + a_2P_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1 + x_2) - (a_0 + a_1)(x_0 + x_1)],$$

$$(a_0 + a_1P_1 + a_2P_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1 + x_2) - (a_0 + a_1)(x_0 + x_1)],$$

$$(a_0 + a_1P_1 + a_2P_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) = a_0x_0 + P_1[(a_0 + a_1)(x_0 + x_1) - a_0x_0] + P_2[(a_0 + a_1 + a_2)(x_0 + x_1P_1 + x_2P_2) - (a_0 + a_1)(x_0 + x_1)],$$

So that.

$$AX = (a_0x_0 + \acute{a}_0\acute{x}_0) + P_1[(a_0 + a_1)(x_0 + x_1) + (\acute{a}_0 + \acute{a}_1)(\acute{x}_0 + \acute{x}_1) - a_0x_0 - \acute{a}_0\acute{x}_0]$$

$$+ P_2[(a_0 + a_1 + a_2)(x_0 + x_1 + x_2) + (\acute{a}_0 + \acute{a}_1 + \acute{a}_2)(\acute{x}_0 + \acute{x}_1 + \acute{x}_2)$$

$$- (a_0 + a_1)(x_0 + x_1) - (\acute{a}_0 + \acute{a}_1)(\acute{x}_0 + \acute{x}_1)]$$

$$+ J[(a_0\acute{x}_0 + \acute{a}_0x_0)$$

$$+ P_1[(a_0 + a_1)(\acute{x}_0 + \acute{x}_1) + (\acute{a}_0 + \acute{a}_1)(x_0 + x_1) - a_0\acute{x}_0 - \acute{a}_0x_0]$$

$$+ P_2[(a_0 + a_1 + a_2)(\acute{x}_0 + \acute{x}_1 + \acute{x}_2) + (\acute{a}_0 + \acute{a}_1 + \acute{a}_2)(x_0 + x_1 + x_2)$$

$$- (a_0 + a_1)(\acute{x}_0 + \acute{x}_1) - (\acute{a}_0 + \acute{a}_1)(x_0 + x_1)]$$

By a similar argument, we can write:

$$BY = (b_0 y_0 + b_0 y_0) + P_1 [(b_0 + b_1)(y_0 + y_1) + (b_0 + b_1)(y_0 + y_1) - b_0 y_0 - b_0 y_0]$$

$$+ P_2 [(b_0 + b_1 + b_2)(y_0 + y_1 + y_2) + (b_0 + b_1 + b_2)(y_0 + y_1 + y_2)$$

$$- (b_0 + b_1)(y_0 + y_1) - (b_0 + b_1)(y_0 + y_1)]$$

$$+ J [(b_0 y_0 + b_0 y_0)$$

$$+ P_1 [(b_0 + b_1)(y_0 + y_1) + (b_0 + b_1)(y_0 + y_1) - b_0 y_0 - b_0 y_0]$$

$$+ P_2 [(b_0 + b_1 + b_2)(y_0 + y_1 + y_2) + (b_0 + b_1 + b_2)(y_0 + y_1 + y_2)$$

$$- (b_0 + b_1)(y_0 + y_1) - (b_0 + b_1)(y_0 + y_1)]$$

The equation AX + BY = C is equivalent to the following system of Diophantine equations:

Equation (1):

$$a_0 x_0 + \acute{a_0} \acute{x_0} + b_0 y_0 + \acute{b_0} \acute{y_0} = c_0$$

Equation (2):

$$(a_0 + a_1)(x_0 + x_1) + (a_0 + a_1)(x_0 + x_1) + (b_0 + b_1)(y_0 + y_1) + (b_0 + b_1)(y_0 + y_1) - (a_0x_0 - a_0x_0 - b_0y_0 - b_0y_0 = c_1, \text{ thus:}$$

$$(a_0 + a_1)(x_0 + x_1) + (a_0 + a_1)(x_0 + x_1) + (b_0 + b_1)(y_0 + y_1) + (b_0 + b_1)(y_0 + y_1)$$

= $c_0 + c_1$

Equation (3):

$$(a_0 + a_1 + a_2)(x_0 + x_1 + x_2) + (a'_0 + a'_1 + a'_2)(x'_0 + x'_1 + x'_2) + (b_0 + b_1 + b_2)(y_0 + y'_1 + y'_2) + (b'_0 + b'_1 + b'_2)(y'_0 + y'_1 + y'_2) - (a_0 + a_1)(x_0 + x_1) - (a'_0 + a'_1)(x'_0 + x'_1) - (b'_0 + b'_1)(y'_0 + y'_1) - (b'_0 + b'_1)(y'_0 + y'_1) = c_2, \text{ thus:}$$

$$(a_0 + a_1 + a_2)(x_0 + x_1 + x_2) + (a'_0 + a'_1 + a'_2)(x'_0 + x'_1 + x'_2) + (b'_0 + b'_1 + b'_2)(y'_0 + y'_1 + y'_2) + (b'_0 + b'_1 + b'_2)(y'_0 + y'_1 + y'_2)$$

$$= c_0 + c_1 + c_2$$

Equation (4):

$$a_0 \dot{x_0} + \dot{a_0} x_0 + b_0 \dot{y_0} + \dot{b_0} y_0 = \dot{c_0}$$

Equation (5):

$$(a_0 + a_1)(x_0 + x_1) + (a_0 + a_1)(x_0 + x_1) + (b_0 + b_1)(y_0 + y_1) + (b_0 + b_1)(y_0 + y_1)$$

= $c_0 + c_1$

Equation (6):

$$(a_0 + a_1 + a_2)(\dot{x_0} + \dot{x_1} + \dot{x_2}) + (\dot{a_0} + \dot{a_1} + \dot{a_2})(x_0 + x_1 + x_2)$$

$$+ (b_0 + b_1 + b_2)(\dot{y_0} + \dot{y_1} + \dot{y_2}) + (\dot{b_0} + \dot{b_1} + \dot{b_2})(y_0 + y_1 + y_2)$$

$$= \dot{c_0} + \dot{c_1} + \dot{c_2}$$

By now, we have six linear Diophantine equation with four variables.

We will transform them into easier forms.

We add equation (1) to (4), we get:

$$(a_0 + \acute{a_0})(x_0 + \acute{x_0}) + (b_0 + \acute{b_0})(y_0 + \acute{y_0}) = c_0 + \acute{c_0} \quad (I)$$

We add equation (2) to (5), we get:

$$(a_0 + a_1 + a_0' + a_1)(x_0 + x_1 + x_0' + x_1') + (b_0 + b_1 + b_0' + b_1')(y_0 + y_1 + y_0' + y_1')$$

$$= c_0 + c_1 + c_0' + c_1' \quad (II)$$

We add equation (3) to (6), we get:

$$(a_0 + a_1 + a_2 + a_0 + a_1 + a_2)(x_0 + x_1 + x_2 + x_0 + x_1 + x_2)$$

$$+ (b_0 + b_1 + b_2 + b_0 + b_1 + b_2)(y_0 + y_1 + y_2 + y_0 + y_1 + y_2)$$

$$= c_0 + c_1 + c_2 + c_0 + c_1 + c_2 \quad (III)$$

We subtract equation (3) from (1), we get:

$$(a_0 - \acute{a_0})(x_0 - \acute{x_0}) + (b_0 - \acute{b_0})(y_0 - \acute{y_0}) = c_0 - \acute{c_0} \quad (IV)$$

We subtract equation (5) to (2), we get:

$$(a_0 + a_1 - a_0' - a_1')(x_0 + x_1 - x_0' - x_1') + (b_0 + b_1 - b_0' - b_1')(y_0 + y_1 - y_0' - y_1')$$

$$= c_0 + c_1 - c_0' - c_1' \quad (IIV)$$

We subtract equation (6) from (3), we get:

$$(a_0 + a_1 + a_2 - a_0 - a_1 - a_2)(x_0 + x_1 + x_2 - a_0 - a_1 - a_2)$$

$$+ (b_0 + b_1 + b_2 - b_0 - b_1 - b_2)(y_0 + y_1 + y_2 - a_0 - a_1 - a_2)$$

$$= c_0 + c_1 + c_2 - c_0 - c_1 - c_2 \quad (IIIV)$$

We change the variables by the following:

$$\begin{cases} x_0 + \acute{x_0} = t_0, x_0 - \acute{x_0} = \acute{t_0} \\ x_0 + x_1 + \acute{x_0} + \acute{x_1} = t_1, x_0 + x_1 - \acute{x_0} - \acute{x_1} = \acute{t_1} \\ x_0 + x_1 + x_2 + \acute{x_0} + \acute{x_1} + \acute{x_2} = t_2, x_0 + x_1 + x_2 - \acute{x_0} - \acute{x_1} - \acute{x_2} = \acute{t_2} \\ y_0 + \acute{y_0} = s_0, y_0 + \acute{y_0} = \acute{s_0} \\ y_0 + y_1 + \acute{y_0} + \acute{y_1} = s_1, y_0 + y_1 - \acute{y_0} - \acute{y_1} = \acute{s_1} \\ y_0 + y_1 + y_2 + \acute{y_0} + \acute{y_1} + \acute{y_2} = s_2, y_0 + y_1 + y_2 - \acute{y_0} - \acute{y_1} - \acute{y_2} = \acute{s_2} \end{cases}$$

The equation can be written as follows:

$$(a_{0} + \acute{a}_{0})(t_{0}) + (b_{0} + \acute{b}_{0})(s_{0}) = c_{0} + \acute{c}_{0} \quad (I)$$

$$(a_{0} + a_{1} + \acute{a}_{0} + \acute{a}_{1})(t_{1}) + (b_{0} + b_{1} + \acute{b}_{0} + \acute{b}_{1})(s_{1}) = c_{0} + c_{1} + \acute{c}_{0} + \acute{c}_{1} \quad (II)$$

$$(a_{0} + a_{1} + a_{2} + \acute{a}_{0} + \acute{a}_{1} + \acute{a}_{2})(t_{2}) + (b_{0} + b_{1} + b_{2} + \acute{b}_{0} + \acute{b}_{1} + \acute{b}_{2})(s_{2})$$

$$= c_{0} + c_{1} + c_{2} + \acute{c}_{0} + \acute{c}_{1} + \acute{c}_{2} \quad (III)$$

$$(a_{0} - \acute{a}_{0})(\acute{t}_{0}) + (b_{0} - \acute{b}_{0})(\acute{s}_{0}) = c_{0} - \acute{c}_{0} \quad (IV)$$

$$(a_{0} + a_{1} - \acute{a}_{0} - \acute{a}_{1})(\acute{t}_{1}) + (b_{0} + b_{1} - \acute{b}_{0} - \acute{b}_{1})(\acute{s}_{1}) = c_{0} + c_{1} - \acute{c}_{0} - \acute{c}_{1} \quad (IIV)$$

$$(a_{0} + a_{1} + a_{2} - \acute{a}_{0} - \acute{a}_{1} - \acute{a}_{2})(\acute{t}_{2}) + (b_{0} + b_{1} + b_{2} - \acute{b}_{0} - \acute{b}_{1} - \acute{b}_{2})(\acute{s}_{2})$$

$$= c_{0} + c_{1} + c_{2} - \acute{c}_{0} - \acute{c}_{1} - \acute{c}_{2} \quad (IIIV)$$

According to the previous argument, we can see that the symbolic 2-plithogenic split-complex Diophantine equation AX + BY = C is solvable if and only if the equations (I, II, III, IV, IIIV, IIIV) are solvable, which is equivalent to:

$$\begin{cases} gcd(a_0 + \acute{a_0}, b_0 + \acute{b_0}) \setminus c_0 + \acute{c_0} \\ gcd(a_0 - \acute{a_0}, b_0 - \acute{b_0}) \setminus c_0 + \acute{c_0} \\ gcd(a_0 + a_1 + \acute{a_0} + \acute{a_1}, b_0 + b_1 + \acute{b_0} + \acute{b_1}) \setminus c_0 + c_1 + \acute{c_0} + \acute{c_1} \\ gcd(a_0 + a_1 - \acute{a_0} - \acute{a_1}, b_0 + b_1 - \acute{b_0} - \acute{b_1}) \setminus c_0 + c_1 - \acute{c_0} - \acute{c_1} \\ gcd(a_0 + a_1 + a_2 + \acute{a_0} + \acute{a_1} + \acute{a_2}, b_0 + b_1 + b_2 + \acute{b_0} + \acute{b_1} + \acute{b_2}) \setminus c_0 + c_1 + c_2 + \acute{c_0} + \acute{c_1} + \acute{c_2} \\ gcd(a_0 + a_1 + a_2 - \acute{a_0} - \acute{a_1} - \acute{a_2}, b_0 + b_1 + b_2 - \acute{b_0} - \acute{b_1} - \acute{b_2}) \setminus c_0 + c_1 + c_2 - \acute{c_0} - \acute{c_1} - \acute{c_2} \end{cases}$$

The algorithm for solution:

To solve AX + BY = C; A, X, B, Y, C are symbolic 2-plithogenic split-complex integers, we follow these steps:

Step (1).

We transform AX + BY = C to the equivalent system of classical Diophantine equations $(I) \rightarrow (IIIV)$.

Step (2).

We check if equations $(I) \rightarrow (IIIV)$ are solvable in Z.

If there exists one equation which is not solvable, then AX + BY = C I not solvable.

Step (3).

We solve the system $(I) \rightarrow (IIIV)$.

Step (4).

$$x_{0} = \frac{1}{2}(t_{0} + t'_{0}), y_{0} = \frac{1}{2}(s_{0} + s'_{0}), x'_{0} = \frac{1}{2}(t_{0} - t'_{0}), y'_{0} = \frac{1}{2}(s_{0} - s'_{0})$$

$$x_{1} = \frac{1}{2}(t_{1} + t'_{1}) - \frac{1}{2}(t_{0} + t'_{0}), y_{1} = \frac{1}{2}(s_{1} + s'_{1}) - \frac{1}{2}(s_{0} + s'_{0})$$

$$x'_{1} = \frac{1}{2}(t_{1} - t'_{1}) - \frac{1}{2}(t_{0} - t'_{0}), y'_{1} = \frac{1}{2}(s_{1} - s'_{1}) - \frac{1}{2}(s_{0} - s'_{0})$$

$$x_{2} = \frac{1}{2}(t_{2} + t'_{2}) - \frac{1}{2}(t_{1} + t'_{1}), y_{2} = \frac{1}{2}(s_{2} + s'_{2}) - \frac{1}{2}(s_{1} + s'_{1})$$

$$x'_{2} = \frac{1}{2}(t_{2} - t'_{2}) - \frac{1}{2}(t_{1} - t'_{1}), y'_{2} = \frac{1}{2}(s_{2} - s'_{2}) - \frac{1}{2}(s_{1} - s'_{1})$$

Remark.

The available solutions are under the conditions

$$t_0 + t_0', t_0 - t_0', t_1 + t_1', t_1 - t_1', t_2 + t_2', t_2 - t_2' \in 2Z$$

$$s_0 + s_0', s_0 - s_0', s_1 + s_1', s_1 - s_1', s_2 + s_2', s_2 - s_2' \in 2Z$$

Example.

Take the symbolic 2-plithogenic split-complex Diophantine equation with two variable:

$$[(1 + P_1 - P_2) + J(2 + 2P_1 + 3P_2)]X + [(3 + P_1 + 2P_2) + J(1 - 3P_1 + P_2)]Y$$

= $(11 + 7P_1 + 8P_2) + J(6 + 6P_1 + 6P_2)$

We have:

$$\begin{cases} a_0 = 1, a_1 = 1, a_2 = -1 \\ a'_0 = 2, a'_1 = 2, a'_2 = 3 \\ b_0 = 3, b_1 = 1, b_3 = 2 \\ b'_0 = 1, b'_1 = -3, b'_2 = 1 \\ c_0 = 11, c_1 = 7, c_3 = 8 \\ c'_0 = 6, c'_1 = 6, b'_2 = 6 \end{cases}$$

The equivalent system is:

$$\begin{cases} 3t_0 + 4s_0 = 17 & (I) \\ 6t_1 + 2s_1 = 30 & (II) \\ 8t_2 + 5s_2 = 44 & (III) \\ -t'_0 + 2s'_0 = 5 & (IV) \\ -2t'_1 + 6s'_1 = 6 & (IIV) \\ -6t'_2 + 7s'_2 = 8s & (IIIV) \end{cases}$$

All equation $(I) \rightarrow (IIIV)$ are solvable, that is because:

$$gcd(3,4) = 1 \setminus 17, gcd(6,2) = 2 \setminus 30, gcd(8,5) = 1 \setminus 44, gcd(-1,2) = 1 \setminus 5, gcd(-2,6) = 2 \setminus 6, gcd(-6,7) = 1 \setminus 8$$

We will take one solution for each equation:

$$t_0 = 3$$
, $s_0 = 2$ is a solution of (1).

$$t'_0 = -1$$
, $s'_0 = 2$ is a solution of (IV).

$$t_1 = 5$$
, $s_1 = 0$ is a solution of (II).

$$\dot{t_1} = -3$$
, $\dot{s_1} = 2$ is a solution of (IIV).

$$t_2 = 3$$
, $s_2 = 4$ is a solution of (III).

$$\dot{t_2} = 1, \dot{s_2} = 2$$
 is a solution of (IIIV).

$$x_0 = \frac{1}{2}(t_0 + t_0') = 1, y_0 = \frac{1}{2}(s_0 + s_0') = 2, x_0' = \frac{1}{2}(t_0 - t_0') = 2, y_0' = \frac{1}{2}(s_0 - s_0') = 0$$

$$x_{1} = \frac{1}{2}(t_{1} + t'_{1}) - \frac{1}{2}(t_{0} + t'_{0}) = 0, y_{1} = \frac{1}{2}(s_{1} + s'_{1}) - \frac{1}{2}(s_{0} + s'_{0}) = -2$$

$$\dot{x}_{1} = \frac{1}{2}(t_{1} - t'_{1}) - \frac{1}{2}(t_{0} - t'_{0}) = 2, \dot{y}_{1} = \frac{1}{2}(s_{1} - s'_{1}) - \frac{1}{2}(s_{0} - s'_{0}) = 0$$

$$x_{2} = \frac{1}{2}(t_{2} + t'_{2}) - \frac{1}{2}(t_{1} + t'_{1}) = 1, y_{2} = \frac{1}{2}(s_{2} + s'_{2}) - \frac{1}{2}(s_{1} + s'_{1}) = 3$$

$$\dot{x}_{2} = \frac{1}{2}(t_{2} - t'_{2}) - \frac{1}{2}(t_{1} - t'_{1}) = -3, \dot{y}_{2} = \frac{1}{2}(s_{2} - s'_{2}) - \frac{1}{2}(s_{1} - s'_{1}) = 1$$

Thus $X = (1 + P_2) + J(2 + 2P_1 - 3P_2), Y = (2 - 2P_1 + 3P_2) + J(8P_2)$ is a solution of the original equation.

Conclusion

In this paper, we have presented an effective algorithm to solve a symbolic 2-plithogenic split-complex linear Diophantine equation with two variables. Also, we have illustrated a related example to clarify the strength of the presented algorithm.

In the future, we aim to study other Diophantine equations with symbolic 2-plithogenic and 3-plithogenic split-complex linear and non-linear Diophantine equations.

References

- [1]. Abobala, M., " A Short Contribution to Split-Complex Linear Diophantine Equations in Two Variables", Galoitica Journal of Mathematical Structures and Applications, Vol.6, 2023.
- [2]. Rawashdeh, A., "An Introduction To The Symbolic 3-plithogenic Number Theory", Neoma Journal Of Mathematics and Computer Science, 2023.
- [3]. Sankari, H., and Abobala, M., "Neutrosophic Linear Diophantine Equations With two Variables", Neutrosophic Sets and Systems, Vol. 38, pp. 22-30, 2020.
- [4]. Ibrahim, M., and Abobala, M., "An Introduction To Refined Neutrosophic Number Theory", Neutrosophic Sets and Systems, Vol. 45, 2021.
- [5]. Ali, R., "A Short Note On The Solution of n-Refined Neutrosophic Linear Diophantine Equations", International Journal Of Neutrosophic Science, Vol. 15, 2021

- [6]. Sarkis, M., "On The Solutions Of Fermat's Diophantine Equation In 3-refined Neutrosophic Ring of Integers", Neoma Journal of Mathematics and Computer Science, 2023.
- [7]. Merkepci, M., and Abobala, M., "On Some Novel Results About Split-Complex Numbers, The Diagonalization Problem And Applications To Public Key Asymmetric Cryptography", Journal of Mathematics, Hindawi, 2023.
- [8]. Khaldi, A., " A Study On Split-Complex Vector Spaces", Neoma Journal Of Mathematics and Computer Science, 2023.
- [9]. Ahmad, K., "On Some Split-Complex Diophantine Equations", Neoma Journal Of Mathematics and Computer Science, 2023.
- [10]. Ali, R., "On The Weak Fuzzy Complex Inner Products On Weak Fuzzy Complex Vector Spaces", Neoma Journal Of Mathematics and Computer Science, 2023.
- [11]. Nabeeh, N., Alshaimaa, A., and Tantawy, A., "A Neutrosophic Proposed Model For Evaluation Blockchain Technology in Secure Enterprise Distributed Applications", Journal of Cypersecurity and Information Management, 2023.
- [12]. Merkepci, H., and Abobala, M., "On The Symbolic 2-Plithogenic Rings", International Journal of Neutrosophic Science, 2023.
- [13]. Ali, R., and Hasan, Z., "An Introduction To The Symbolic 3-Plithogenic Modules", Galoitica Journal Of Mathematical Structures and Applications, vol. 6, 2023.
- [14]. Ali, R., and Hasan, Z., "An Introduction To The Symbolic 3-Plithogenic Vector Spaces", Galoitica Journal Of Mathematical Structures and Applications, vol. 6, 2023.

- [15]. Merkepci, M., Abobala, M., and Allouf, A., "The Applications of Fusion Neutrosophic Number Theory in Public Key Cryptography and the Improvement of RSA Algorithm", Fusion: Practice and Applications, 2023.
- [16]. M. B. Zeina, N. Altounji, M. Abobala, and Y. Karmouta, "Introduction to Symbolic 2-Plithogenic Probability Theory," *Galoitica: Journal of Mathematical Structures and Applications*, vol. 7, no. 1, 2023.
- [17]. Merkepci, M., and Abobala, M., "Security Model for Encrypting Uncertain Rational Data Units Based on Refined Neutrosophic Integers Fusion and El Gamal Algorithm", Fusion: Practice and Applications, 2023.
- [18]. Alhasan, Y., Alfahal, A., Abdulfatah, R., Ali, R., and Aljibawi, M., "On A Novel Security Algorithm For The Encryption Of 3×3 Fuzzy Matrices With Rational Entries Based On The Symbolic 2-Plithogenic Integers And El-Gamal Algorithm", International Journal of Neutrosophic Science, 2023.
- [19]. Abobala, M., and Allouf, A., "On A Novel Security Scheme for The Encryption and Decryption Of 2×2 Fuzzy Matrices with Rational Entries Based on The Algebra of Neutrosophic Integers and El-Gamal Crypto-System", Neutrosophic Sets and Systems, vol.54, 2023.
- [20]. Abualkishik, A., Almajed, R., Thompson, W., "Improving The Performance of Fog-assisted Internet of Things Networks Using Bipolar Trapezoidal Neutrosophic Sets", Journal of Wireless and Ad Hoc Communication, 2023.
- [21] Ben Othman, K., Von Shtawzen, O., Khaldi, A., and Ali, R., "On The Concept Of Symbolic 7-Plithogenic Real Matrices", Pure Mathematics For Theoretical Computer Science, Vol.1, 2023.
- [22] Ben Othman, K., Von Shtawzen, O., Khaldi, A., and Ali, R., "On The Symbolic 8-Plithogenic Matrices", Pure Mathematics For Theoretical Computer Science, Vol.1, 2023.